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1. Before a bakers shop opens, 19 doughnuts are made.

During the morning, 24 doughnuts are made and 35 doughnuts are sold.

During the afternoon, 23 doughnuts are made and 18 doughnuts are sold.

At the end of the afternoon the bakers closes.

All the doughnuts that are left are given to a charity.

How many doughnuts are given to the charity?

1. . . . . . . . . . . . . .

2. There are 26 passengers on a train.

The train stops at Filey.

At Filey, 19 passengers get off the train and 8 passengers get on the train.

The train then goes to Bridlington.

At Bridlington, 13 passengers get off the train and 21 passengers get on the train.

How many passengers are now on the train?

2. . . . . . . . . . . . . .
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3. There are 32 passengers on a bus.

The bus stops at Withies Park.

At Withies Park, 17 passengers get off the bus and 21 passengers get on the bus.

The bus then goes to Midsomer Norton.

At Midsomer Norton, 28 passengers get off the bus and no one gets on the bus.

The bus then goes to Westfield.

At Westfield, 7 passengers get off the bus and 11 passengers get on the bus.

How many passengers are now on the bus?

3. . . . . . . . . . . . . .

4. Marcel works in a cafe.

When he arrives at work there are 5 slices of brown bread and 13 slices of white bread.

During the day Marcel buys 34 slices of brown bread and 40 slices of white bread.

He uses 23 slices of brown bread and 48 slices of white bread.

How many slices of bread are there in the cafe at the end of the day?

4. . . . . . . . . . . . . .
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